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SCHOLARSHIP EXAMINATION NCVEMEF.F- 2022

SCIENCE S?FLBAM Marks:1OO
Time: 2 hrs

GENERAL INSTRUCTIONS:

Read the instructions carefully before answering
1. Please fill up your Roll No. and class. in tlie box provided on the OMR sheet.
2. This question booklet contains 50 questions and 5 Tie Breaker questions. All
questions including 'Tie Breaker Questions' arle mandatory. Tie Breaker questions rf ill
be evaluated only in case of a Tie.
3. Each question carries 2 marks.
4. Each question has 4 answer choices a,b,c,d.
5. Fdr each question, select the best/correct option and darken the bublle completely
against the corresponding question in the OMR sheet provided.
6. Use a blue/black ball point pen to darken the bubble.
7. Darken only one bubble against each question.
8. There will be no negative marking.

Choose the correct answer from the options given.

l. Select the appropriate phrasal verb from the given options to fill the blank space and cor,rplete the
sentence.

Ten candidates ---------------- for the interview.
a. turned up
),. turned down
c. turned over
d. turned out

--4--4he{ollowir+g senten€€-has been split into four seEnenfs.Jdenti${he-segment-thaleontains a

grammatical eror.
Had you/ not reached in time,/ we will have/ lost our lives.

a. Had you

b. lost our lives
c. not reached in time
d. d. we will have

3. One who eats human flesh

a. Parasite

b. Drover
. c. Narcissist

d. Cannibal

4. What does the idiom "A pipe dream" mean?

a. A hope or plan that is unlikely to happen

b. To become quiet or quieter

c. An unending dream

d. A nightmare
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5. "Death"'touched N4iss. Claroline u,irh its
a. Ox1'111g,-on

b. Antitlresis

c. Hyperbole

d. Personiflcation

ic1,fi11-osl's'- is the best eratlple of u'hicl-r {l,,ure of speech?

The n'ord Frugal is synonymous to:
a. E,conomical

b. Spiteful I
c. Relaxed

d. Wasteful

Direction- In the following question, out of the four alternatives , choose the alternative which besl
expresses the meaning of the idiom/ phrase.

Damocles sword

a. Blunt sword
b. A closely impending disaster i 4

c. A sword of Damocles
d. A disputed sword
A lift is moving down with an acceleration of a. A man in the lift drops a
ball inside the lift . The acceleration of the ba.ll is as observed by a man in ,

the lift and a man standing stationary in the ground are respectively,
a. g,g
b. 4d
c. ( g-a), g

d' &,8
hand of a watch is I cm. The change in velocity of its tip in I 5 seconds in cmls

-c.

d.

Zero

ft
30!2
lt
30

2lt
30,12

IS

a.

b.

10. The speed of a projectile at its maximum height is half of its initial speed. The angle of projection is
1. 60

2. l5'
3. 30

4. 4s
11. A parlicle of mass 0.3 Kg is subjected to a force F: :kx with k: l5 N/m. what will be its initial

acceleration, if it is released from a point 20 cm away from origin.
a. l5 m/s2

b. 3 mls2

c. l0 m/s2

d. 5 mls2

12. The velocity of the body depends on time according to the equation, v: 10 + 2{. The body is
undergoing

a. Uniformacceleration
b. Non-uniform acceleration

c. Uniform retardation
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d. Zelo acceieralion
l3' A bLrllet is fired verlicall-1 upuards fi-orr a rifle. u,ith a velocitv oi- ll0 nrls- ll-orn the to' o1'a I l5rrr

hislt 10$cr- If -g- l0 tllrs2. the rciocilr lvilh rvhich the bLrllet u,ill slrike tlre qrorurd isa. 220 ntls
b. I 75 nr/s

c. i l0 rn/s

d. I l5ni/s
l4' An athlete finishes a round of circulartrack of radius R in 40 sec. what is hiB.displacement at tlre endol2 rlin 20 sec?

a. 2R

b. 2nR

c. 7nR

d. Zero
l5' The first emission lines of the hydrogen atomic spectrum in the Bahner Series appear at;a. 5R/36 cm-I

b. 3R/4 cm-1
c. 7N144 cm-I
d. 9R/400 cm*1

I6. The solubility of ca3(poa)2 in warer is y mol/L. Its solubility product is -__
a.6f t

b. 36yo

c. 64ys

d. 108y5

lJne-Eofe-ot-a-rymmetrical alkene on ozonolysis gives two moles of an aldehyde having molecular
mass 44u. The alkene is -----
a. Propene

b. l- butene

c. 2- butene

, d. Ethene

18. Two elements X (atomic weight : 75) and y (aromic weight :
having 75.8% of X. The fonnula of the compound is

l6) combine to give a compound

a-XY 
-'-b-. 

XtY c. XY2 --d-. EE
l9' WJrich of the following represents the correct order of increasing first ionization enthalpy for

Ca,Ba, S, Se and Ar

a. Ca<Ba<S<Se<Ar c. S<Se<Ca<Ba<Ar

b. Ca<S<Ba<Se<Ar d. Ba<Ca<Se<S<Ar

20' The numberoflonepairs ofelectrons on the cenlral atoms of H2O, SnCl2. pCI3 and XeF2
respectively are

a.2,1 ,1,3

a. 0.1

b.2,2,1,3 c. 3,1,1,2

. b.0.2

d.2,1,2,3

21' g '2grams of Nzo+ (g) is taken in a closed one litre vessel and heated till the following equilibrium
is reached NzOa (g) e 2NO2 (g)

At equilibrium 50 % N2Oa (g) is dissociated. What is the equilibrium constant ( in
mol L-1) ( molecular weigniof N zOt:92) 

rr vv'*srl

d.2
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??. Entotrology is tlre science that stiidies
a. Be hal'iour o1'hurlan bein-gs

b. b.lnsects
c. c.'1-he origin and historv o1-technical and scientific terils
d. d.The fbrnration of rocks

23. \Vhich city'rvill host Ol1,nrpics20242
a. Nerv York
b. Sydney
c. Beijing
d. Paris

24.Which rocket is launched by ISRO recently?
a. LVM3
b. b.cv
c. JJ

d. d.GH
25. Which countries' international calling code is + 94?

a. India
b. Sri Lanka

c. Singapore

b. Pakistan

26.What is the suggested name of children with special needs mentioned in NEP 2020?
a. Divyang child
b. Disabled Child
c. Distinguished child
d. Distorted and Gifted child

bic blocks . What is the minim#te$e taken away in order to
construct a solid cube with none left over
a. 66

b. 2s

c. 30

d. 32

a

28. Rohit walked25 metres towards South. Then he turned to his left andwalked2O metres. He then

turned to his left and walked 25 metres. He again turned to his right and walked 15 metres. At what

ffi itarting point and in wh-ich?iiEEtio-n?

a. 35metresEast

b. 35metresNorth

c. 40metresEast

d. 60metresEast

29. How many cases do you need if you hav,e to pack 1i2 pairs of shoes into cases that each hold 28

shoes?

a.6
b.7
c.8
d.9

30. P is to the North of Q and S is to the east of 
'P, 

who is to the south of W.
T is to the west of P. Who among the following is towards south'of W and north of Q?

a.T
b.s
c.P
d.a
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^

I -, ,--te 41/t

a.K
b.L
c. N4

d.N

) Identifl the nexl letler.

3?. Gii'en beloq, ?re the rh_^^ ^. :.
ri irich lollorrs ,l11ht'1ntt: 

srater)ren

i. onty oo.lsl.urrr, 
ti";-;;;; T,j:J,fff: 

bv rbur alternari'es. Sete* the alrernarive

il t iln :il,.Jffi;:l;: [,,i: [x.r 
;;;

; gl,:'li;:t-:-;l::::'" are marked with green corour

c Sonte ;i;;;;:l:,Iu"'s are boYs

d onry rrie;#JJr:l:T;:";l # with green corour

33. Berrvee n r960 
"". ;";;'). 

aIe marked with green corour

erephants. ;;;J:i.t e7o.' ivorv poz

v:!:. : o bb'o 
"i;- f?'r:##i*iil:T# ;[,flnTl- T'] :", o r Zin ba k u * i,,ed 

-over 6 50 01970 and l9g0 or

jtr$ t' nirrnry +tttilffi lr,* +:#rr ![?rft "':ffiI best help to .*pfuin ir,"""1"^"-^-, . ,

a' The poachers arresred in zinbut ,,,, t""--- ,:::'"t" 
the apparent impossibility presenred

, Jong prison terms raku befween 1970 anb. Because of hi-r.r. 
"v'lvvuelr tv/uand lg80wererarel-ysentencedtob' Because of rrrgrriv Duhlici.-,' ^^--, 

- "vw wcre rarel-y sentenced to

, ,;"il:iff{"^J::1':";;;;il;;ombasa rose s,igh,v between ,,,0 -d. In Zinbaku, between 1970 andl eRn +r^^,_-, naturar habirar, were .,.u..01] 
ngo, thousands of

2^ ^t 
'ta'ttaL were cleared for farm;ng 

vsrruJ ur acres of forest, the elephant,s
34. Given below are two statements, one is .labelled as Asseftio

Assertion A: The aim of educarion ,,-' "":::-^sserrron 

A and the other is labelled as Reason R- ---preparation 
for rrfe in rhis,*"fi.::cient India was ryo-ndsdo-d-tin*-.-.--- to!:tt the acquisition ofknowledge bur

Reason R: Ancient Inrti-* ^:
rn rigii ;;#'!,o":1]ndian education 

e
ove srarem e";;, ;il# ifJffil ilil:l,li:: 

at izari on and r i bera ti o n or ser l

; I l::::"" bur R is nor correct. 
'-'""' 'PPtuPrrate answer from tr" option, ffi 

/b. A is not corr, 
- ^t rr rrvr uulTect-

: Bolh A # 
T:fl!l::,T:.il,,.f;orrecr expranation of A

d' Both A and R ur. .orr..i ort itrr^oT the correc, .*jirnu,ion of A.35. Which of the foll(i) 
^u;;;".:wrns 

statements are

(ii) Mo.t Ro*. 
are not r.ug.unf 

*'- mutually contradictory?

t',1 n; ;;;:;ff"::1,Til::,(iv) Mosr flowe
choose'ht :t^1i: 

fragrant'

Code: 
_--_ correct answer from the code given below

(i) and (ii)

eKese/Not;o,ffi
b. (i) and (iii) c. (ii) and (iii) d. (iii) and (iv)
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36' l1'the p'otrrosilion 'AIr thie'es are pooi- is laise. u.hich .1-1hc
1o be true?

proposir ions:

a. Sonte thieves are poor
b. Some thieves are not poor
c. No tirief is poor
d. No poor person is a thief

lollou'ing propositions can be clair-ned

TIE-BREAKER

l. 'Hold your horses' means
a. Change your mind
b. Really joyful
c. Have doubt
d. Wait a minute

A tank is filled with water upto a height H. water is al)owed to come out of a hore prn one ofthewalls at a depth h below the surface of water (see fig.) Express the horizontal distdnce X in tenns Hand h.

4. X=:r'trfrt-lr

c' ft) x=;lqs:47_---
Which is calle{the'metal of the future,?

a. Lead
b. Titanium
c. Platinum

d. Mercury

d. x= lil {x-ir)

which is the first known anirnar of a human- engineered hybrid of two species?a- Kunga_
b. Camel
c. Wild Ass
b. Karakul Sheep

5' Two statements l-and II are given- Read both statements and decide which of the following optionscorrectly depicts the rerationship between these fwo statements.I - The school bus with teacheis and students eouldntt reach the school on time.II - A major accident took prace on the road brocking the traffic.

e' If statement I is the cause, statement II corild be its effectf' Both statements I and II could be the effects,of some common cause.g. Both statements I and II are independent causes.h' If statement II is the cause, statement I could be its effect

i

1'

AKBSE/NOV 2022 / GR_II / Sal

t/<*X*'&************

Page 6


